A2

The sun by the clouds.

Answer:

Snow by the children.

Answer:

The rain by the umbrella.

Answer:

The wind by the trees.

Answer:

The thunderstorm by the lightning.
Answer:

The temperature by the weather forecast.
Answer:

The rainbow by the sunlight.
Answer:

Fog by the car's headlights.
Answer:

The hall by the roof.

Answer:

The storm by the waves.

Answer:




Answers

The sun by the clouds.
Answer: is obscured

Snow by the children.

Answer: is enjoyed

The rain by the umbrella.

Answer: is protected

The wind by the trees.
Answer: is rustled

The thunderstorm by the lightning.

Answer: is accompanied

The temperature by the weather forecast.

Answer: is predicted

The rainbow by the sunlight.
Answer: is caused

Fog by the car's headlights.
Answer: is illuminated

The hall by the roof.
Answer: is damaged

The storm by the waves.
Answer: is created



